
Integration and Differentiation using Solver. 
This resource was written by Derek Smith with the support of CASIO New Zealand. It may be freely distributed but 

remains the intellectual property of the author and CASIO. 
 

Select the EQUA mode from the MAIN MENU by using the arrow 

keys to highlight the EQUA icon and pressing [EXE] or press [8]. 
 

The Solver mode lets you determine the value of any variable in a 

formula without having to manipulate the equation. 

Select the SOLV (Solver) mode [F3], and input the equation. 

In the table of variables that appears on the display, input the values for each variable. 

Select the variable for which you want to solve to obtain the solution. 

"Lft" and "Rgt" indicate the left and right sides that are calculated using the solution.* 
 

[Note: If you do not input an equals sign, the calculator assumes that the expression is to the left of the equals sign, and there is 

a zero to the right.] 

 

     
Enter Solver [F3]  Clear the ‘Eq:’ area [F2] then [F1] for ‘Yes’. 
 

Example 1:   Solve   ∫ 𝑥 𝑑𝑥 = 1
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  𝐴 =  √3 [=1.732(3d.p.)] 
 

     
Select [OPTN],     then [F2] for the CALCulus tools. 
 

     
Enter the equation, [F3] for ∫dx,   then press [EXE] to store the equation.  

Set all variables to zero, i.e. ‘X’ and ‘A’, then select variable A by moving the cursor to highlight ‘A’.  
 

  
Press [EXE] or [F6] to SOLVe. 

 

  



Example 2:   Solve   ∫ 𝐴𝑥 𝑑𝑥 = 3
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Algebraically:  [
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Example 3:   Solve   
𝑑𝑦

𝑑𝑥
= 4, when y = x2 at x = A. 

Algebraically:  
𝑑𝑦

𝑑𝑥
= 2𝑥, 𝑤ℎ𝑒𝑛 𝑥 = 𝐴, 2𝐴 = 4 

Therefore A = 2. 
 

     
Select [OPTN], then [F2] for the CALCulus tools.  [F1] for d/dx 

 

 

   
 

Example 4:   Solve   
𝑑𝑦

𝑑𝑥
= 𝐴, when y = x2 at x = 10. 

Algebraically:  
𝑑𝑦

𝑑𝑥
= 2𝑥, 𝑤ℎ𝑒𝑛 𝑥 = 10 

𝑑𝑦

𝑑𝑥
= 2 × 10 = 20. 

 

  
 

Try:  

1. Solve   ∫ 𝐴𝑥 + 1 𝑑𝑥 = 24
3

1
 

2. Solve   ∫ 𝑥2 +  𝐴𝑥 𝑑𝑥 = 15
6

0
 

3. Solve   
𝑑𝑦

𝑑𝑥
= 6, when y = x + 2x2 at x = A. 

4. Solve   
𝑑𝑦

𝑑𝑥
= 12, when y = x2 + 2x – 1 at x = A. 

 

    
 

For further tips, more information and software support visit our websites: 

www.casio.edu.monacocorp.co.nz or http://graphic-technologies.co.nz 

http://www.casio.edu.monacocorp.co.nz/
http://graphic-technologies.co.nz/

